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Direction &  

iz’u dzekad 01 esa dqy 15 vR;Ur y?kq mÙkj Lo:Ik ds iz’u fn;s x;s gSA 

izR;sd mÙkj ,d ;k nks iafDr;ksa esa nsuk gksxkA lHkh iz’u A ls O rd 

vfuok;Z gSA izR;sd iz’u 03 vad dk gSA      

               

            15*3= 45 

(A) inkFkZ D;k  gS\ 

What is matter?  
(B) ;kSfxd o feJ.k esa varjA  

Difference between compound and mixture.  
(C) mnklhuhdj.k D;k gS\ blds mnkgj.k fyf[k,A 

  What is Neutrilization? Write its example.  
(D) thou dh fo’ks"krk,¡ fyf[k,A  

    Write the characterstics of life. 
(E) U;wjkWu D;k gS\  

What is Neuron. 
(F) ^;ksX;re dh mÙkjthfork* dks le>kb;sA  

Explain “Survival of the fittest. 
(G) lkokZf=d xq:Rokd"kZ.k fu;rkad A 

Universal Gravitational Constant. 
(H) tM+Ro dk fu;e fyf[k,A   

Write the law of inertia. 
(I) 'kwU; dk;Z D;k gS\  

What is zero work. 
(J) fo|qr foHko dh ifjHkk"kk fyf[k,A 



 

Write the defination of electric potential. 
(K) fuEu dk lekarj ek/; fyf[k,A  

Find the mean of following number 

34, 0, 13, 7, 5, -20 
(L) eku Kkr dhft,A  

Find the value. 

(m-a) x (m-b) x (m-c) x .........x (m-z) 
(M) nks ntZu isflay dk ewY; 60 :i;s gS rks 150 isflay dk ewY; D;k gksxk\   

If price of two dozen pencil is 60 Rs. then find prise of 150 

pencils. 
(N) ;fn leckgq f=Hkqt dk ifjeki 180 ehVj gS] rks mldh Hkqtk,¡ Kkr dhft,A 

If perimeter of equilateral triangle is 180 meter than find it’s 

side. 
(O) ukfHkdh; fo[k.MuA 

Nuclear fission. 
 

iz’u dzekad 2 esa dqy 12 y?kq mÙkj Lo:Ik ds iz’u fn;s x;s gSA izR;sd mÙkj 

yxHkx 100 'kCnksa esa nsuk gSA dqy 10 iz’uksa dk mÙkj nsuk gksxkA izR;sd iz’u 

6 vadks dk gSA         10*6 = 60  

 
(A) /kkrq o v/kkrq esa varj Li"V dhft,A  

Write difference between metal nd nonmetal. 
(B) MkWYVu dk ijek.kq fl)kar fyf[k,A 

Write dalton’s atomic theory. 
(C) ijek.kq ce ij fVIi.kh fyf[k,A 



 

Short note on atom bomb. 
(D) iztuu ds izdkjksa dh ppkZ djsaA 

Dicuss the types of reproduction. 
(E) es.MyhQ us vius iz;ksxksa ds fy, eVj ds ikS/kksa dks D;ksa pqukA 

Choose the pea plant for his experiment. 
(F) tSo&fodkl dks le>kb,A 

Explain bio-development  
(G) U;wVu dk xfrfo"k;d izFke fu;e fyf[k, o bldk O;atd fudkfy,A 

Write newton’s first law and also find it’s expression. 
(H) ijkorZu D;k gS\ blds fu;e fyf[k,A 

What is reflection write it’s law. 
(I) pqEcdh; dc js[kk,¡ D;k gS\ budh fo’ks"krk,¡ fyf[k,A 

What is magnetic force line and also write it’s charaterist. 
(J) ,d O;fDr lkbZfdy dks 1140 esa cspus ij 5 izfr’kr dh gkfu gksrh gS] rks mls 5 

izfr’kr dk ykHk dekus ds fy, lkbZfdy dks fdrus esa cspuk iM+sxkA 

A person sold his bicycle for 1140 Rs. he gets 5% loss. for 

getting 5% profit how much he will sell his cicycle 

(K) ehukj ls 100 ehVj dh nwjh ij mUu;u dks.k 30
0

 gSA rks ehukj dh Å¡pkbZ Kkr 

dhft,A 

If the elevation angale 30
0
 from the tower distance 100 m. find 

the height of tower. 
(L) ,d oxkZdkj ikdZ dk ifjeki 480 ehVj gS] rks bldk {ks=Qy Kkr dhft,A 

If the perimeter of square park is 480 m. than find it’s area. 

 
 



 

iz’u Øekad 03 esa dqy 5 iz’u fn;s x;s gS] izR;sd  dk mÙkj yxHkx 300 

'kCnksa esa gksuk pkfg, dqy 03 iz’uksa dk mÙkj nsuk gksxkA    

            15*3 = 45 
 vEy] {kkj dh ifjHkk"kk fy[krs gq;s budh fo’ks"krk,¡ vkSj igpkuus dh izfdz;k dk (A)

o.kZu dhft,A  
Write the definition of acid & alkali] describe their 

characterstics and process off identifiacation. 
 jnjQkWMZ ds ijek.kq ekWMy ij fVII.kh fyf[k,A (B)

Short note on Rutherford’s atomic model. 
 tarq dksf’kdk dk lfp= o.kZu dhft,A (C)

Describe animal cell with diagram. 
 ekuo efLr"d dk o.kZu dhft,A (D)

Explain the human brain. 
 fuEu dh ekf/;dk o cgqyd Kkr dhft,A (E)

Determine the median and mode. 
  

oxZ varjky 

/Class 

interval 

10-20 20-30 30-40 40-50 50-60 

vko`fÙk/ 

frequency 
13 7 10 15 5 

 


